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No No No A EEER A EER S EER R EEERIE A BRI EEEEI T
1] 20 BHEAR 31115 | 31115 MEAS YRBbEEH/INEESR 1 1 1 1 1 1 1 1 1 1 1 1 1 1 6 6|cuT 5 5 5] 10
2| 107 BAXE 31518 | 31578 it TR BOHEA 2| 2 2 2 2 2 6 6|CcuUT 2 2 2 3 3 3 1 1 1 4 4 4 14
3 1 BAKZE 31495 | 31495 HESR R+ RT3 0 5| 5 5 4 4 4 5 5 5 3 3 3 8 scuTr 2 2 2 1 1 1] 20
4| 35 SHKE 31498 | 31498 ERWE AR/ ARG 4 4 4 6 6 6] 10| 10| 10 9|UFD |cuT 5 5 5 3 3 3 2 2 2| 30
5| 97 BERAXE 30736 | 30736 BEE INFESR 9| 9 9 3 3 3 2 2 2 4|UFD |CUT 7 7 7 4 4 4 6 6 6l 31
6| 14 BBKE 31336 | 31336 FHES PALLIBE 3 3 3 5 5 5 8 8 8 6(UFD [CUT 4 4 4 7 7 7 7 7 7| 34
7] 103 thR K 31319 | 31319 b # N E B%A 6 6 6| 14| 14fcuT 9 9 9 7 5 5 6 6 6 5 5 5 3 3 3 34
8| 62 FEBRKFE 31218 | 31218 RiEWRE A 8 8 8 7 7 7 4 4 4] 10|UFD |GUT 2 2 2 9 9 of 11| 11| 11| M
9| = HEIFXKE 31430 | 31430 AEEE b o] 11| 11| 11| 10| 10| 10 3 3 3 5 4 4| 13| 13|cuT 10| 10| 10| 10| 10| 10| 48
10 4 HRIEXS 30868 | 30868 HERHE E#BRT 13| 13|CUT 13 13| 13] 12 12| 12| 12 6 6| 10f 10 10 11| 11| 11 9 9 9| 61
11| 81 HEKE 29528 | 29528 KEHF KEENH 12| 12| 12 8 8 8 7 7 71 15 9 9| 17| 17|cuT 14| 14| 14| 15| 15| 15| 65
12| 84 BHXERERR 30395 | 30395 EEE ERER 71 7 7 9 9 9l 15| 15| 15 8|UFD |CUT 9 9 o 13| 13| 13| 12[ 12| 12| 65
13| 67 BREI K 30214 | 30428 LHEE FEEELL/RBLED 10| 10| 1o} 11| 11| 11| 14| 14|CUT 16| 10| 10| 11| 11| 11] 12| 12[ 12| 13| 13| 13| 67
14| 93 HURHIILKE 31184 | 31184 eAllboE 4 EREA/EAEHE 15| 15| 18] 12| 12| 12| 11| 11| 11| 11|UFD |CUT 14| 14| 14 8 8 8 8 8 8| 68
15| 80 HEKE 28539 | 28539 HbES EAFIR 14| 14| 14| 15| 15|CUT 13 13| 13| 13 7 71 12| 12| 12| 15| 15| 15| 14| 14| 14| 75
16| 34 SHEKE 30825 | 31310 HHED KEREE/IWAER 16| 16| 16| 16| 16| 16| 16| 16| 16| 14 8 8| 16| 16| 16| 16| 16| 16/ 17| 17|CUT 88
17| 112 R K 30575 | 30575 EHFEM RHES/AERN 17| 17|0UT 17 17| 17l 17| 7| 17} 17| ul 1] s 1s| 18| 17| 17| 17| 16| 16| 16| 93
PS4 Bh Bh Bh BEh BEh BEh Bh
B 210° 195° 195° 220° 220° 210° 210°
L& 5knot Tknot 4knot Sknot 6knot Tknot 9knot
RA—hEFZl 11854553 00%) 12845643 00F) 158$094>00F> 1185043 00F> 12843043 00F> 13053243 00F) 14853553 00F)
J4=v> 2B (Top) 12851943017 138547453255 168£024305%) 1281243 40%) 138£09%350%) 1485175135 150134 34%)
J4=v> 2B (Last) 128503425 1385753275 16851143 18%) 12851953 48F) 138155 1450 148%26%)58F) 158%22507F)
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